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How many job applicants had applied if the ratio
of selected to unselected was 19 : 17. If 1,200
less had applied and 800 less selected, then the
ratio of selected to unselected would have been
1 : 1.

नौकरी के लिए ककतने आवेदकों ने आवेदन ककया था,
यदद चयननत और गैर-चयननत आवेदकों के बीच का
अनुपात 19 : 17 था। यदद 1,200 कम आवेदकों ने
आवेदन ककया होता और 800 आवेदक कम चुने जाते,
तो चयननत और गैर-चयननत आवेदकों के बीच का
अनुपात 1: 1 होता।
[SSC CGL MAINS 2018]

(a) 6000  

(b)7200 

(c) 8400 

(d) 4800 
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If (a + b) : (b + c) : (c + a) = 7 : 6 : 5 and a + b + c =

27, then what will be the value of
𝟏

𝒂
∶
𝟏

𝒃
:
𝟏

𝒄
?

यदद (a + b) : (b + c) : (c + a) = 7: 6: 5और a + b + c =
27, तो 𝟏/𝒂 : 𝟏/𝒃 : 𝟏/𝒄 ? का मान क्या होगा ?
[SSC CGL 2018]

(a)4 : 3 : 6      
(b) 3 : 4 : 2 
(c) 3 : 2 : 4  
(d) 3 : 6 : 4 
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If a, b and c are positive numbers such that

(a² + b²): (b² + c²): (c² + a²) = 34 : 61:45, then

b-a : c-b: c-a =

यदद a, b और c इस प्रकार की धनात्मक सखं्याएँ
हैं (a² + b²): (b² + c²): (c² + a²) = 34: 61:45, तो b-
a: c-b: c-a =

[SSC CGL MAINS 2020: 29 Jan 2022]

(a) 3:2:1
(b) 2:1:3
(c) 3:1:2
(d) 1:2:3
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Atul purchased Bread costing Rs 20 and gave a 100
rupee note to the shopkeeper gave the balance
gave the balance money in coins of denomination
Rs 2, Rs 5 and Rs 10. If these coins are in the ratio
5:4:1, then how many Rs 5 coins did the
shopkeeper give?

अतुि ने 20 रुपये की रोटी खरीदी और दकुानदार को
100 रुपये का नोट ददया, शेष रालश 2 रुपये, 5 रुपये और
10 रुपये मलू्यवगग के लसक्कों में दे दी। यदद ये लसक्के 5:
4: 1 के अनपुात में हैं, तो कैसे दकुानदार ने 5 रुपये के
ककतने लसक्के ददए?
[SSC CGL PRE 2020]

(a) 5

(b) 6

(c) 8

(d) 4 
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Hridaya opened her piggy bank and found coins
of denomination Rs. 1, Rs. 2 and Rs. 10 in the
ratio 10 : 5 : 2 : 1. If there are 72 coins in all, then
how much money (in Rs.) was there in the piggy
bank in the form of coins?

हृदय, अपना गलु्िक खोता है और उसे 1 रू., 2 रू. 5
रू. और 10 रू. मलू्यवगग के लसक्के 10 : 5: 2:1 के
अनुपात में लमिे । यदद कुि 72 लसक्के थे, तो लसक्कों
के रूप में गलु्िक में रालश (रू. में) ज्ञात करें ।
[SSC CGL PRE 2020] (a) 160

(b) 90

(c) 72

(d) 100 
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A bag contain 1 rupee, 50 p, and 25p coins in
the ratio 5:6:7. If the total amount is Rs390.
Find the no. of coins of 25p?

एक बैग में 1 रुपया, 50 पैसे और 25 पैसे के
लसक्के 5: 6: 7 के अनुपात में हैं। यदद कुि रालश रु
390 है। तो 25 पैसे के लसक्के की सखं्या ?
[SSC CGL PRE 2020]

a)200 

b)240 

c)320 

d)280
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A bag contains 50P, 25P and 10P coins in the
ratio of 7:8:3 amounting to Rs87. Find the
number of 10P coins?

एक बैग में 50 पैसे , 25 पैसे और 10 पैसे के
लसक्के 7: 8: 3 के अनुपात में हैं। यदद कुि रालश रु
87 है। तो 10 पैसे के लसक्के की सखं्या ?
[SSC CHSL 2020]

a)30 

b)45 

c)60 

d)50
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The ratio of personal income of A and B of last
year is 3:5. The ratio of last year's income and
current year's income of A and B is 2:3 and 4:5
respectively. The sum of current income of both is
Rs. 86000. Then find the current income of A.

पपछिे वषग के A और B की व्यक्क्तगत आय का अनपुात
3: 5 है। पपछिे वषग की आय और A और B की वतगमान
वषग की आय का अनुपात क्रमशः 2: 3 और 4: 5 है।
दोनों की वतगमान आय का योग रु 86000 है | किर A की
वतगमान आय बताइए ।
[SSC CGL MAINS 2018]

(a) 18000 
(b) 36000
(c) 54000
(d) 50000
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The ratio of the incomes of A and B in 2020 was 5:
4. The ratios of their individual incomes in 2020
and 2021 were 4 : 5 and 2: 3, respectively. If the
total income of A and B in 2021 was 7,05,600,
then what was the income (in) of B in 2021?

2020 में A और B की आय का अनुपात 5:4 था। 2020
और 2021 में उनकी व्यक्क्तगत आय का अनुपात
क्रमशः 4:5 और 2:3 था। यदद 2021 में A और B की
कुि आय 7,05,600 थी, तो 2021 में B की आय (में)
क्या थी?
[SSC CGL MAINS 2020 : 3 Feb 2022]

(a)3,45,600
(b) 2,79,700
(c) 3,60,000
(d) 4,25,900
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The ratio of the incomes of A and B in the last year was

4:3. The ratios of their individual incomes in the last

year and the present year are 3 : 4 and 5: 6, respectively.

If their total income in the present year is 24.12 lakhs,

then the sum of the income (in lakhs) of A in the last

year and that of B in the present year is:

पपछिे वषग A और B की आय का अनुपात 4:3 था। पपछिे वषग और
वतगमान वषग में उनकी व्यक्क्तगत आय का अनुपात क्रमशः 3:4 और
5:6 है। यदद वतगमान वषग में उनकी कुि आय 24.12 िाख है, तो
पपछिे वषग में A की आय (िाखों में) और वतगमान वषग में B की आय
का योग है:
[SSC CGL MAINS 2020 : 29 Jan 2022]

(a) 10.98
(b) 20.52
(c) 22.17
(d) 21.28
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The income of A is

𝟐

𝟑
of B's income and the

expenditure of A is
𝟑

𝟒
of B's expenditure. If

𝟏

𝟑
of the income of B is equal to the expenditure
of A, then the ratio of the savings of A to
those of B is:

A की आय B की आय का 2/𝟑 है और A का व्यय B
के व्यय का 3/𝟒 है। यदद B की आय का 1/𝟑, A के
व्यय के बराबर है, तो A की बचत का B की बचत से
अनुपात है:
[SSC CGL MAINS 2020 : 29 Jan 2022]

(a) 5:3

(b) 3:5

(c) 4:3

(d) 3:4
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The ratio of income of A, B and C is 2 : 3 : 4
and the ratio of expenditure is 3 : 4 : 5 .
Savings of B is 2/5 of its income then find the
ratio of their savings ?

A, B और C की आय का अनुपात 2 : 3 : 4 है और
उनके व्यय 3 : 4 : 5 के अनुपात में हैं। यदद B की
बचत इसकी आय का 2/5 है। किर उनकी बचत का
अनुपात ज्ञात कीक्जए।
[SSC CGL 2018]

(a) 13 : 24 : 35 

(b) 11 : 20 : 27

(c) 12 : 17 : 26 

(d) 14 : 21 : 29
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The ratio of income of A, B and C is 3 : 4 : 5
and there expenses are in the ratio 4 : 5 : 6. If
savings of A is 1/4 of its income. Then find the
ratio of their savings.

A, B और C की आय का अनुपात 3: 4: 5 है और
उनके व्यय 4: 5: 6 के अनुपात में हैं। यदद A की
बचत इसकी आय का 1/4 है। किर उनकी बचत का
अनुपात ज्ञात कीक्जए।
[SSC CPO 2019]

(a) 12 : 19 : 26 

(b) 13 : 20 : 27

(c) 19 : 12 : 26 

(d) 14 : 21 : 29
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कि कक क्िास में जड़ुने के लिए दिए हुए लििंक को open करके like और Save  करें
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